BY

DATE

DRAWN BY

TRACED BY
DESIGNED BY
QUANTITIES BY
CHECKED BY

ORIGINAL SURVEY PLOTTED

PLAN

NOTE BOOK

2

Route 83 B Sta. 1266+28. o/s 24' Lt. to B Sta. 1265+11.1 0/s5 24" L1.

Remove existing quardrail

Install 37.5 L.F. MGS guardrail from 8 Sta. 1265+88.4 o/s 19'* Lt. to B Sta. 1265+50.8 0/s5 19'* Lf.
[nstall MASH FLEAT Terminal TL-3 Standard Post System at approach and trailing end. See sheet
ADD. 235-4 for details.

00+68921 VIS &

<Approx. Work L/m/i‘5>

\ - Y w2 / ppinaly)
7Y S L P 2 .
~ oellV(2) Wol .
e S Y B
— - 10
*ﬁ
*8:1 Guardrail Flare Rate i
measured from Tangent S
following P.C. & Sta. @
1266+17.69. al

Route 83 B STA. 1053+21.3 o/s I7'+ Rt to STA. 1051+15.8 o/s I7'+ Rt

Remove existing guardrail

Install 50 L.F. Thrie-Beam and Transition Sections at obstruction from & Sta. 1052+56.9 o.s. 12+
Rt. to B Sta. 1051+92.7 o.s. 12'+ Rf.

Install 37.5 L.F. MGS guardrail from 8 Sta. 1051+92.7 o.s. 12'+* Rt. to & Sta. 1051+55.3 o.s. 12+ Rt.
[nstall MASH FLEAT Terminal TL-3 Standard Post System al approach and trailing end. See
sheet ADD. 235-4 for details.

A Route 83 B STA. 1054+02.7 o/s 18'+ Lt. to STA. 1052+21.7 0/s 18+ L1,

Remove existing guardrail

Install 37.5 L.F. Thrie-Beam and Transition Sections at obstruction from B Sta. 1053+25.8 o.s.
13.5'+ Lt. to B Sta. 1052+73.7 o.s. 13.5'% Lt.

Install 37.5 L.F. MGS guardrail from & Sta. 1053+63.2 o.s. 13.5'+ Lt. to 8B Sta. 1053+25.8 o0.s. 13.5'%
Lt. and 12.5 L.F. from 8 Sta. 1052+73.7 o.s. 13.5'+ Lt. to & Sta. 1052+61.2 o.s. 13.5'% Lf.

Install MASH FLEAT Terminal TL-3 Standard Post System at approach and trailing end. See
sheet ADD. 235-4 for details.

xFor Thrie-Beam at Obstruction,
B Sta. 1052+56.9 Rt. See sheet

*[ hrie-Beam aft
Ob!sfruc /[gn

FED. ROAD
DIST. NO.

STATE

FED. AID
PROJ. NO.

FISCAL
YEAR

SHEET
NO.

TOTAL
SHEETS

HAWAII

HAW.

STP-0300(187)

2023

ADD. 19

27

B Curve Data

A= 12°07'30"
A/2 = 6°0345"

R = 163727

= 17389

C = 345.83

Lc = 346.48

= =
ADD. 235-1

& (53!
> 9
N== =5
=1 |
> L
—+ O
& | = |

«xFor Thrie-Beam at = 3

Obstruction, B Sta. ** d};@ffﬁgﬁ% at

1053+25.8 Lt, See sheet A o

ADD. 235-2 _ Approx. Work Limits _

172572024

171072024

Updated note
Route 83 B Sta. 1265+40
to B Sta. 1264+20

Update note Route 83 B
B Sta. 1266+05 to B Sta. 1265+80

Removed note and work for
Route 83 B Sta. 1265+40
to B Sta. 1264+20

Revised Work at remaining
locations on this sheet

Updated notes Route 83 B
B Sta. 1053+25 to B Sta. 1052+00
and Route 83 B Sta. 1053+83
to B Sta. 1052+44

DATE

REVISION

STATE OF HAWAII
DEPARTMENT OF TRANSPORTATION
HIGHWAYS DIVISION

ROADWAY PLAN

SITE 4 ROUTE 83 KAMEHAMEHA HIGHWAY 1

GUARDRAIL AND SHOULDER IMPROVEMENTS

At Various Locations, Phase 3, Oahu

Federal-Aid Project No. STP-0300(187)

Scale: 1" = 40’

Date: DECEMBER, 2023

SHEET No.

12 OF

ADD.

19

SHEETS




FED. AID
FED. ROAD STATE PROJ. NO. FISCAL | SHEET TOTAL

DIST. NO. YEAR NO. SHEETS

HAWAII HAW. | STP-0300(187) | 2023 |ADD. 235-1} 27

DATE

BY
(standard plan TE-53 r09/01/87 & TE-54 rll/03/89)

DRAWN BY _X
TRACED BY
DESIGNED BY X
QUANTITIES BY
CHECKED BY

ORIGINAL SURVEY PLOTTED

PLAN
NOTE BOOK

tdl.ruby/quardrail /te54rev.dgn

r&8/21/01

[ransition Extend Thrie-Beam 250" Extend Thrie-Beam 250" [ransition
Section Beyond Obstruction Beyond 0Obstruction Section
NOfma/ [l?Sfa//af/On 3/_/]/2//31_]]/2// 3/_/]/2// 3/_/]/2// 3/_]]/2// 3/_]]/21/ 3/_/72// 31_/]/2// 3/_]]/211 3/_]]/21/ 3/_]]/211 3/_]]/2// 31_/]/2// 3/_]]/2// 3/_]]/2// 3/_/]/2// 3/_]]/2// 3/_]]/21/ 3/_/72// 3/_/]/2// 3/_]]/211 3/_]]/21/ NOfma/ [nSfa//aflon
(MGS) (MGS)
MGS -6 MGS
(1yp)
n u 4 A A A A A AAaddAAAdd A A A A A A A A h n n n R
\ Edge of Shoulder /! ]
L Obstruction Direction of Traffic Edge of Pavement /
PLAN
Normal Installation . 316" Transition Extend Thrie-Beam 250" Extend Thrie-Beam 250" Transition 3-1/6" . Normal Installation
(MGS) Section Beyond Qbstruction Beyond Obstruction Section (MGS)
Obstruction
YMefa/ Guardrail  Element
T e N R e — IR — — Finish Ground
I i i S S N VA NN N N N R 1 i i /4 M R N i i i i e
ro] ot
FLEVATION
NOTES:
. All Guardrail and Concrete Barrier Designs at Obstructions shall be
approved by the Engineer.
Paved Shoulder tructi 2. IT X < 2-0", Concrete Barrier or special guardrail design;
Obstruction 2-0" < X < 4-1", Strong Post Thrie-Beam with reduced post spacing;
4-1" < X, MGS with 6-3" post spacing (Normal Installation).
X /\/) 3. For Thrie-Beam and Transition Section Details, see sheet ADD. 23S-3.
] See
Shoulder Pavement == | Note
Design as specified 1 D= | vo, 2
on Plans S )
Nk
AT OO T T \
S S DEPARTMENT OF TRANSPORTATION
TYPICAL SECTION AT OBSTRUCTION THRIE-BEAM AT _OBSTRUCT ION
B Sta. 1052+56.9 Rl.
RPDR = , GUARDRAIL AND SHOULDER IMPROVEMENTS
DETAIL OF GUARDRAIL INSTALLATION AT OBSTRUCTION 1 lresvaoe aases is oo Rl AND SUMLDER UL
Federal-Aid Project No. STP-0300(187)
Scale: 1" = 40’ Date: DECEMBER, 2023
DATE REVISION SHEET No. S-1 OF SHEETS

ADD. 235




DATE

BY
(standard plan TE-53 r09/01/87 & TE-54 rll/03/89)

QUANTITIES BY

DESIGNED BY X
CHECKED BY

DRAWN BY _X
TRACED BY

ORIGINAL SURVEY PLOTTED

PLAN
NOTE BOOK

tdl.ruby/quardrail /te54rev.dgn

r&8/21/01

FED. ROAD | ¢1aTE EE%JAII\?O FISCAL | SHEET | TOTAL
DIST. NO. S YEAR NO. | SHEETS

HAWAII HAW. | STP-0300(187) | 2023 ADD. 2352, 27

[ransition [hrie-Beam [2"-6" Extend Thrie-Beam 250" [ ransition
Section Beyond 0Obstruction Section
NOfma/ [/')Sfa//aflon 3/_]]/2//3/_]]/2// 3/_/]/2// 31_/]/2// 3/_]]/2// 3/_]]/21/ 3/_]]/211 3/_]]/2// 31_/]/2// 3/_]]/2// 3/_]]/2// 3/_/]/2// 3/_]]/2// 3/_]]/21/ 3/_/72// 3/_/]/2// 3/_]]/211 3/_]]/21/ NOfma/ ]nsfa//ahon
(MGS) (MGS)
MGS -6 MGS
(1yp)
u n n 4 A A A AdAadAbAAA A A A A A A A A B h n n n R
\ Edge of Shoulder /! ]
L Obstruction Direction of Traffic Edge of Pavement /
PLAN
Normal Installation . 31" Transition T hrie-Beam 12-6" Extend Thrie-Beam 250" Transition 372" . Normal Installation
(MGS) Section Beyond Obstruction Section (MGS)
Obstruction
YMefa/ Guardrail  Element
i ——_ R R R R R T I T N — IR — —Finish Ground
g i g R SN N 4 T | R A | g g v
= Yo
ELEVATION
NOTES:
. All Guardrail and Concrete Barrier Designs at Obstructions shall be
approved by the Engineer.
Paved Shoulder tructi 2. IT X < 2-0", Concrete Barrier or special guardrail design;
Obstruction 2-0" < X < 4-1", Strong Post Thrie-Beam with reduced post spacing;
4-1" < X, MGS with 6-3" post spacing (Normal Installation).
X /\/) 3. For Thrie-Beam and Transition Section Details, see sheet ADD. 23S-3.
] See
Shoulder Pavement == | Note
Design as specified 1 D= | vo, 2
on Plans NS )
Nk
AT OO T T \
S S DEPARTMENT OF TRANSPORTATION
TYPICAL SECTION AT OBSTRUCTION THRIE-BEAM AT OBSTRUCT ION
B Sta. 1053+25.8 Li.
RPDR = ' GUARDRAIL AND SHOULDER IMPROVEMENTS
DETAIL OF GUARDRAIL INSTALLATION AT OBSTRUCTION i Vresreon aasos s e (AR AD SHOU LR IUEEOEME!
Federal-Aid Project No. STP-0300(187)
Scale: 1" = 40’ Date: DECEMBER, 2023
DATE REVISION SHEET No. S-2 OF 4  SHEETS

ADD. 235-




DATE

BY

SURVEY PLOTTED
DRAWN BY _X
DESIGNED BY X
QUANTITIES BY
CHECKED BY

TRACED BY

ORIGINAL
PLAN

NOTE BOOK

tdl.Ernest/standards/Traffic Guardrail Standards/thriebeam_B-5B8.dgn

ril/30/17

eonond [ orare | PR/, | iscar | sueer [ romau
61_3// 3/_/]/2// | 3/_/]/2// 3/_1]/2// MGS
Transition | Section 4 HAWAII HAW. | STP-0300(187) 2023 |ADD. 235-3 27
=i T —— =i —iT] —iT]
e e — I =N
N e — ——1
G st — NI W6x8.5
T 2 Of 5 ' = / I I RWMO4a i H Structural 4"
2 2 n eCflon Il :(:J

1-9%

: \ i Lap in dlr i :::: Shape

i i i i
\ i RW TOZ i Of frafflc i i
RTMOZD .. I I i i

Finish Grade | g : ! |

/ i i i i NO TE.' 3 | i

i i i i .
AT S NSO, Y A/ / H 0/ 85 al' e /4” D/ a.

t=X\\=g=======

& & & & '
e 7 e ot 57 7 2] 4.I 3/ u
PWEO4 . . PWEOl——= I PWEOl——= /s ) /%i
* Not to be used for Thrie Beam N ¢ Post Bolt Slot . : I :
connection to structures. -l N |
* | R
TRANSITION SECTION 2 alpr e : i
7-30" <t |
e | 3-1p" | 3-1p" L% | A== , Y foms
I : 3" x 216" Post : 1" x 1%" Splice : | ' Reflector Marker (RM-5) - R ' mo|
o ﬁ Bolt Slot . Bolt Slot ‘\ | Reflector Facing Traffic R | R o NS
Ea— ' — (Mounted on Guardrail Post Bolt Slot &5 m S
5 Bolt). For details and : 3 x 2l i s
o notes, see Guardrail - Ground 7, 7, — Ground
—t— Details ¢ Notes sheet. ': Line — 2 7 Line
i ! i ! il
| | . 'é: ' R Séolice Bolt Slot \QL I X EET;_ L
T 621" B z %" x 1" Slots 2 . %
I ! ' N2
Al AR B 4 A
| i |||:
! i !
Distance between Post Slots
TRANSITION SECTION (RWT02) . Distance befwoen Post Siofs SIDF FRONT
| Centers to be designated.
Offset Block or Blockout l -
0 T 2 [HRIE-BEAM STRONG POST

(Recycled Polyethylene or

svararail — T | e TYPICAL INSTALLATION OF RAIL SPLICE FOR PLASTIC SPACER BLOCKS

— PWEO!
: o - 3
AL REFLECTOR MARKER (RM-5) e ; . PWEO
O | — |
- - 7% | 5% Ye" 2" . 815" | 2 x 10" |
~S 1_7/8 5% ‘ Ji6 - 5/ Zi | | | Splice Bolt Slot (Typ.)
o 4 V30 4 20 i 1
. PLAN e . i
] S 3 ) ' | L, I
RTHO2b " Orfset Block or Blockout M =((0)s J 0 T s @ |
- N , | | | |
¢ FBBOI \ : i 135 \ ey 'R 5 5 5 5
Splice Bolts < | R g N (Typ.) > | > |
FBB03 Jor N » Dia xlfs" “‘ K 5. | | | |
—C | . Mod. H ja. x/fe = :
X | 5 /_/g X Nifa v Recess both X ( TI}G/p.) l @ l PR @ »
AT = sides s | | | |
\ | /\ XY 55° 55° - - - -
b / & <7 ? ? ? ?
2 a o " - & H ¢ ; | | i 1/25/2024 Added this sheet.
L/’r/%j&W W - 55 > o i o
I ///4,, %6\, ] ] Q& ] Q
L B == DATE REVISION
DESIGNATOR L o | \ — | STATE OF HAWAI
%" %R | ? ———— f TN otwavs ouwision
ELEVATION AR e SR ' TRONG POST
FBBO? Pz &g 10° D o | STRONG POS
STRONG POST FBBO3 10" M / o | M [HRIE-BEAM GUARDRAIL
(Typ.) " x 25"

THRIE-BEAM GUARDRAIL ~ GUARDRAIL BOLTS Foo 5o 501 T

At Various Locations, Phase 3, Oahu

(SGROY%a) AND RECESSED NUT | & 2 SPACE THRIE-BEAM GUARDRAIL (RTM02b) FOgErE A Projoel B9 o8 LS ie ]

Scale: NTS Date: DECEMBER, 2023
SHEET No. S$-3 OF SHEETS

ADD. 2353




FED. AID

BY

SURVEY PLOTTED

DRAWN BY

DATE

TRACED BY
DESIGNED BY
QUANTITIES BY
CHECKED BY

ORIGINAL
PLAN

NOTE BOOK

EDNOAD |TaTe | FROfNo. | FecAL | sHEET | ToTaL
HAWAIL | HAW. | STP-0300(187) | 2023 |ADD. 2354| 27
See Detal A o 39'—=77 [12.07 m] Straight Flare
6'—3" [1905] e | - 1270]
) \jQ\6 ~3” [1905] o
\* — A 427 [1270] 0 s 12707
e S i | T o 1
N4 | Ii L |
3 A H-i
Rail Exit on Length of Need Ll ]Ir %
Traffic Side M, (8)p, (8)q, (B)n
PLAN
TRAFFIC
Q @ > @ ® @ @ |voscwo
5
— - N — - o - - o - - B o -
— = = = = = ——= = = = e = =
- - L] ST — — =— o - T = — =
@A% , m
e \@ wﬁ\ T(
See Detail B Hinge Bolt on
Downstream - . . - - - —
: lde of Fost Hinge Bolt on (8)d, (8)h
Soil Plate on Sownstrearm
Downstream @/ Side of Post
Side of Post |
cLEVATION
. g B
Washer
Attached to
TEM | QTY BILL OF MATERIALS TEM NO.
A 1 FLEAT IMPACT HEAD MF 3000
B 1 FLEAT ANCHOR RAIL 12'-6" SF13035 \
C 1 FLEAT SECOND RAIL 10°=5" F1524 | Z% —
D 1 FLEAT THIRD RAIL 13 =6 1/27 F1554 — iﬁ Q
& 1 | FIRST POST TOP (6X6X3" Tube) MP 1A N L Q H A
F 1 | FIRST POST BOTTOM (6 WBX15) MP 1B @ HH %
G 1 | GROUND STRUT MS785 IS Q O~
H | 2 | HINGE POST UPPER MHP2A _, o
J 2 HINGED POST LOWER HP2B \ e %] 4]
K 5 STEEL LINE POST & P62 1 ) JT ‘r‘j %
L 1 MASH BEARING PLATE ME /50 -
M 1 CABLE ANCHOR BOX S/60 \\\ ‘ ‘
N | 1 | BCT CABLE ANCHOR ASSEMBLY £770 Detall A Detall B SECTION A—A SECTION B—B
O 5 RECYCLED PLASTIC BLOCK OR EQUIV. CBSP—14 . .
ARDWARE (ALL DIVENSIONS IN INCHES) impact Head Connection Post #1 Connection Anchor Bracket Post #2
a 2 5/16 x 1 HEX BOLT GRD 5 B5160104A ]
b 4 5/16 WASHER WO516 GENERAL NOTES: ] ) )
= | 2 [5/16 HEX NUT NO516 1. All bolts, nuts, cable assemblies, cable anchors and bearing plates shall be galvanized.
4 |18 |5/8 x 1 1/4 SPLICE BOLT 5530122 2. The lower sections of the Posts 1, 2 & 3 shall not protrude more than 4 in above the
e | 2 |5/8 x 9 HEX BOLT GRD 5 B580904A ground (measured along a &' cord). Site grading may be necessary to meet this requirement.
f | 5 |5/8 x 10 H.G.R. BOLT B581002 3. The lower sections of the hinged posts should not be driven with the upper post attached. CTATE OF HAWALL
g | 3 |5/8 WASHER w050 If the post is placed in a drilled hole, the backfill material must be satisfactorily compacted to DEPARTMENT OF TRANSPORTATION
HIGHWAYS DIVISION
h 25 | 5/8 H.G.R NUT NO50O [@f@\/@ﬂﬁ sattlement.
j | 1 |5/8 x 5" BOLT FULL THREAD GRD A449 | B580504A 4. When competent rock is encountered, a 12° @ post hole, 20 in. deep cored into the rock MASH FLEAT TERMINAL
‘ ; 5/8 HEX NUT A surface may be used if approved by the engineer for Posts 1 and/or 2. Granular material will T1-3 STANDARD POST SYSTEM
: Z j ;Ei L{J i LA BURD bR A iéi?SM be placed in the bottom of the hole, approximately 2.5” deep to provide drainage. The first
and/or second post can be field cut to length, placed in the hole and backiilled with suitable : CUARDRAIL AND SHOULDER [MPROVEMENTS
n | 2 |1 ANCHOR CABLE HEX NUT N100 backfil. The soil ola be i1 it ired /N |[725/2029 Added this sheet. At Various Locations, Phase 3, Oahu
ST 2 |7 ANCHOR CABLE WASHER 00 ackfill. The soil plate may be trimmed if required. | | | | ; . 2 2
T8 [1/2 RS/ SHOULDER BOLT W/WASHER S 5. The breakaway cable assembly must be taut. A locking device (vice grips or channel lock Federal-Aid Project No. STP-0300(187)
q | 8 |1/2 STRUCTURAL NUT NO12A pliers) should be used to prevent the cable from twisting when tightening nuts. Scale: NTS Date: DECEMBER, 2023
r | 8 |1/2 STRUCTURAL WASHER WO12A DATE REVISION SHEET No. 54 OF 4  SHEETS

ADD. 235-4






